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(4] THE POWER RULE COMBINED WITH THE CHAIN RULE If n is any real number
and u = g(x) is differentiable, then ‘p

d d
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Alternatively, i [g(x)]" = n[g(x)]"" - g'(x)
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Find an equation of the tangent line to the curve at the
given point. Conmraf Pownr Rt

Y= c**",’ Y
Y= l(&-‘) +0
~ ldes x + ‘J.s&\t-cosx)l = ‘J”‘
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52. y = sinx + sin’x, (0,0)

60. Find thegcoordinates of all points on the curve
y = smcl — 2 sin x at which the tangent line is horizontal.
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68. Suppose f is differentiable on R and « is a real number.
Let F(x) = f(x“) and G(x) = [ f(x)]* Find expressions
for (a) F'(x) and (b) G'(x).

F 0= £'6*) -<x”
G'txn= F(t\d-'- £

72. If F(x) = f(xf(xf(x))), where f(1) = 2, f(2) = 3,f'(1) = 4,
f'(2) = 5,and f'(3) = 6, find F'(1).
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